
Solution to "Jester" 

F U N E R A L A N G O
U T B E A M E D S H I
N E E R U P T S T A G
N T E O R B I T E S H
E E T T A L L R A T T
Y A L I T O T O D D R
O S E C A N E V E R E
R E A M E D D A B A V
E R G E R E S I N D E
C O A T E M A N Y O R
N A T E V A L I A T E

 
The omitted letters (in parentheses in the list below) spell 

HARVARD LAMPOON 
 

Across 
1. FUNERAL 
2. (H)ANGOUT 
3. BEAMED 
4. SHINE 
5. ERUPT 
6. STAGN(A)TE 
7. ORBITE(R) 
8. SHEET 
9. TALL 
10. RATTY 
11. ALITO 
12. TODD 
13. ROSE 
14. CANE 
15. VER(V)E 
16. REAMED 
17. DAB 
18. AVER(A)GE 
19. RESIN 
20. DECO(R)ATE 
21. MANY 
22. ORNATE 
23. VALI(D)ATE 

Down 
1. FUNNE(L) 
2. YORE 
3. C(A)NUTE 
4. TEASE 
5. ROAN 
6. BEETLE 
7. AGATE 
8. EROTIC 
9. METER 
10. AURA 
11. TA(M)E 
12. REVAMP 
13. BLONDE 
14. MALE 
15. TILTED 
16. SALAD 
17. STRO(P) 
18. VAIN 
19. INSTEAD 
20. EB(O)NY 
21. AGHAST 
22. D(O)RADO 
23. TO(N)IGHT 
24. REVERE 

 
Kevin Wald solved the puzzle in 35 minutes. 


